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In the given figure AKLM,
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Nis the mid-point of KLand NO| LM ,then KO=
K
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In the given figure AGHI,
2. S I
Jis the mid-point of GH and JK| HI ,then GJ=
G

HI

(i) or (i) GK (iii) HI (iv) © (v)
o iii ) o W)

In the given figure AJKL,
3. . N
Mis the mid-point of JKand MN| KL ,then JM=
J
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In the given figure AlJK,
4.
Lis the mid-point of IJ and LM|JK ,then LJ=
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In the given figure AlJK,
5. . :
Lis the mid-point of IJ and LM|JK  then IM=

I
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In the given figure AlJK,
6.
Lis the mid-point of IJ and LM | JK ,then MK=

|
A
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7. BCDE is a rhombus. P, Q, R and S are mid-points of sides BC, CD, DE and EB. Find £ZQRS
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(i) 91° (ii) 89° (iii) 92° (iv) 90° (v) 88°



In the given figure, GHIJ is a parallelogram
8. such thatKandLare mid-points of sidesGH&]J.
GLmeetsHjatPandIKmeetsHjatQ. GivenH]=20 cm, find HQ
J > I

G K H

(i) 8.67 cm (ii) 6.67 cm (iii) 4.67 cm (iv) 7.67 cm (v) 5.67 cm

9. In the given figure, GHIJ is a parallelogram such that Q is the mid-point of GH and GH = 2JG. Find £])QI
|
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(i) 89° (ii) 92° (iii) 88° (iv) 90° (v) 91°

In the given figure, CDEF is a trapezium. G and H are mid-points of CF and DE.Given EF = 7 cm and CD = 17 cm,
" find GH

C D

(i) 11.0cm (ii) 14.0cm (iii) 12.0cm (iv) 10.0cm (v) 13.0cm

In the given figure, ADEF is a triangle.
11. G,H&lare mid-points of EF,FD & DErespectively.
GivenGH = 8 cm,HIl = 10 cm&IG = 8 cm, find the sides of the triangle.
D

E F
(i) 16 cm,20cm&16 cm (ii) 16 cm,19 cm&16 cm (iii) 17 cm,20 cm&16 cm (iv) 16 cm,20 cm&18 cm

(v) 14 cm,20 cm&16 cm



In the given figure, GHIJ is a parallelogram. The bisector of the angles G, H, | & ] intersect at Q, R, S & T to form a
" quadrilateral. Find ZQRS

G H

(i) 90° (ii) 91° (iii) 92° (iv) 89° (v) 88°

13 In the given figure, I, m & n are three straight lines such that AF | BE || CD and DP || EQ | FR.Giveny = 12 cm, a =
" 10 cm and x = 10 cm, find 'b'
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(i) 10.33cm (ii) 833 cm (iii) 7.33cm (iv) 6.33cm (v) 9.33cm
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